25

30

track dz (cm)

| N of associated (recoToSim) looper tracks vs dxy |

20
track dz (cm)

track dz (cm)

[N of associated (recoToSim) tracks vs dxy ]

20
track dz (cm)

£ .
Qe :
z TR 5
25 A
3
o —
R N P P S M s (N S
s |3 —
o 2
H
o g .
5 H
LD o .
I ° H
o g e
— 7] H
| e H
e} o .
- g R
o =
N 5
3
9 2
| 8
5
z
0 _ o
& >
£
o O
QL
<
ERe]
]
o
=
B 2
LD
o
el
I
o
: BN
LD
L LEEE R Eh
. . o
Attt B
N LD
L L
9
o1
5
Syoel) aye} H
0~ 15
£
Hde
W o
Ja s 5
3
o 1
— O N S
s |8 =
-{o g
£
o 8
D) Z
< -1 E
EE| a
[ (=] e
oo R S
s g
> 1+ p=
DOO o g
1] N ]
S| ) m
o8 AL
oo 3 S
syjoen ann [ H z
b |
OO0
OO
==
==l
=]
SS) I =]
SOl -
Free o5 N
.............. hoie B [SRCA
boo| N
ssis] =
POO| [fe]
T =T
| x
> Jo e
DOO] — © o
ia'al i —
{0
o
e}
[
=] 3
T g
LD
— Il
IS 8
N :
RS . -
N ]
4_ <] - - 3
Z|

N of reco track vs dxy

syoen

syoen



	Contents
	Page 1


